[ > # FHEE 1005 F TPGbyH-E 20 —3 — 25 ;
> with(StringTools) : FormatTime ("%Y -Y%om-%d-(%r)"); print (#£-FHEZF1ERK)
"2020-03-25-(03:46:21 AM)"

I UETFIHEE LBk )
I @
>ps:=2:cs:=1:tc:=0:Ps:=0:forxfrom1 to 1000 do trc||x := 0 :0d: print(Start,
ps[ {cs} thp]) for pcs from cs to 100000000 do P||1 := ps: for n from 2 to 8 do P

|| n := nextprime(P|| (n —1)):S||ln := Pl|ln —P|| (n —1)od: if S||2=Ps +2 and §S||3
=Ps+4and S||4=Ps+6 andS||5=Ps+8and S||6=Ps+10and S||7=Ps + 12

and S||8 =Ps + 14 then tc := tc + | : print(2468 F[Tc =tc], [seq( (P j) ["+", 2]
+Ps],j=1.4)1) : print([seq( (P j)["+",2-j +Ps],j=5..7), P||8]) : print( ) :

Ps = Ps + 2 fi: if pcs mod 1000000 =0 then print( ps[ pcs thp]) fi: ps := P||2 :od:

Start, 2{1} hp

2468 Tp,_ 1, [128981, 0 5, 128983, . . 128987, . ¢ 128993, . ]
(129001, 0 15, 1290110 0 1, 129023, 1, 129037]

15485863
324528432000000 thp
4'99796873000000 thp
2468 Ty, 5 [60897163, 1 4, 60897167, ¢, 60897173, . ¢ 60897181, 1]
(60897191 15, 60897203, ., |4, 60897217, ., |, 60897233 ]

1000000 thp

!l+v|
s

678679674000000 thp
86028121 5000000 thp
2468 Ty, 5, [95285633, 1 ¢, 95285639, . g, 95285647, 1, 95285657, 1. 5]
[95285669. 1 14, 95285683, .1 g, 95285699, ., |5, 95285717
2468 Fp, 4y [95285639. . g, 95285647, . g, 95285657, . |, 95285669
(95285683, 14, 95285699, . |5, 95285717, 5, 95285737

v, 14]

104395301 6000000 thp
122949823
141 6509398000000 thp
1604811 839000000 thp
2468 Ty, 5, [178916671, 0 10, 178916681, 5, 178916693, . 1, 178916707 0 1]
(178916723, . 1, 178916741, 5, 178916761, .. ,,, 178916783 ]

7000000 thp

179424673 0000000 hp
198491317, 100000 ap
217645177
236887691

12000000 thp

13000000 thp



256203161 4000000 41p
275604541
295075147} 6000000 tip
314606869, 7000000 1
334214459
353868013 9000000 11y
373587883,0000000 thy
393342739
413158511 5000000 1y
433024223 ,3000000 sip
452930459
472882027,5000000 tip
492876847,¢000000 thp
512927357
533000389,5000000
553105243,5400000 thp
573259391
5934418433 000000 4
613651349:3000000 11y
633910099
654188383 34000000 1
67450608135000000 thp
694847533
71522573937000000 1
735632791 55000000 i
756065159
776531401 40000000 1

2468 T, g [195969221, . 15, 795969233, . |40 TOSO69247, . 1, 795969263, 1]

795969281, 795969301, 795969323, 795969347 |

15000000 thp

18000000 thp

21000000 thp

24000000 thp

27000000 thp

30000000 thp

33000000 thp

36000000 thp

39000000 thp

|+ll’ 20°

|+n’ 227 '+"7 24,

2468 Tp,_ 70 [795969233 . 14, 795969247, . 1. 795969263, 15, 795969281, . ]
(795969301, .1 5. 795969323 5. 795969347, 5, 795969373 |

797003413 41600000 thp
817504243 45000000 thp
838041641
858599503

43000000 thp

44000000 thp



879190747 45000000 thp
899809343 4100000 thp
920419813 47000000 thp
94108398145000000 rip
961748927 49000000 thp
98245165350000000 1hp
1003162753 5100000 14 @

>ps:=2:cs:=1:tc:=0:Ps:=1:forxfrom 1 to 1000 do #rc||x := 0 :0d: print(Start,
ps[ {cs} thp]) for pcs from cs to 100000000 do P|| 1 := ps: for n from 2 to 8 do P
|| n := nextprime(P|| (n —1)):S||ln := Pl|ln —P||(n—1)od: if S||2=Ps-2 and S|| 3
=Ps-4and S||4=Ps-6 and S||5=Ps-8and S||6 =Ps-10and S||7=Ps-12and S|| 8
=Ps-14 then fc := tc + 1 :if tc < 2 then print(Ps-[2,4, 6, 81 /[ Tc =tc], [seq( (P
WA+ 2-Psl,j=1.4)]) : print([seq((P|| j)["+",2+j-Ps],j=5..7), P[|8]) :
print( ) elsefc := 0: Ps := Ps + 1 fifi: if pcs mod 1000000 =0

then print( ps[ { pcs} thp]) fi: ps == P|| 2 :od:

Start, 2{1} thp

[2.4,6,8] T, [128981,,. 5, 128983, ., ,, 128987, ., . 128993, . ¢]
(129001, 0 15, 1290110 0 1, 129023, 1, 129037]

15485863{ 1000000} thp
[2.4,6,8] 7 _p0 [21456047, ., 5, 21456049, . 4, 21456053, ., ¢, 21456059, . 4]
21456067, . 14, 21456077, ., 15, 21456089, 1, 21456103 |

32452843 000000} thp
49979687{3000000} thp
67867967 4000000 hp
86028121 5000000y 1hp
104395301 6000000} 11y
2102,4,6,8] Fp_y, [122742787,,. 4, 122742791, o, 122742799, . 5,
12274281 1,.+..’ 16]
(122742827, 1 59 122742847, 11 240 122742871010 55, 122742899 |

122949823 7000000y hp
141650939 5000000, 11y
160481183 5000000} 11y
179424673 10000000y shp
198491317 11000000 hp
217645177 15000000} rhp
236887691 (13000000} rhp
256203161 14000000} rhp




275604541 15000000} 1t
295075147 16000000} rhp
3 14606869{ 17000000} thp
334214459 15000000} iy
353868013 19000000} 1ip
373587883 50000000} thp
393342739 51000000} thp
413158511 53000000y thp
433024223 53000000} thp
452930459 54000000} 1hp
472882027 55000000} thp
492876847 56000000} thp
512927357 7000000y thp
533000389 55000000} 1t
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